[ Electrolux

www.ersatzteil-service.de

ELECTROLUX OUTDOOR PRODUCTS

brand | PARTNER date | 2002-01 SHEET 1/2
Model Product number
T3550SK 9538781-15 Partner
3550SK Bio 9538781-14 Partner

K] The Electrolux Group.The world’s No.1 choice.

Ihr Ersatzteilspezialist im Internet

MEPIPL02010006



www.ersatzteil-service.de

ELECTROLUX OUTDOOR PRODUCTS

[ Electrolux

brand | PARTNER date | 2002-01 SHEET 2/2
T3550SK; 3550SKBio
Pos PN ELX PN MEP Q.ty Note
1 531206069 10150123 1
2 5312060-27 10146633 1
3 5312074-09 10651400 1
4 531206025 10146610 1 |SCMAMOTOR
4 531206026 10146620 1, 0%° i
5  5312051-69 10121470 1
6  5312071-65 10501200 1 M6
7 531204961 10115900 2 26
8 531208491 20281800 1 M6 NYLON
9  5312070-89 10402401 2  TTSQ M8x50
10  5312062-60 10158403 1
11 531204923 10114303 2
12 5312070-90 10402402 2 @85
13 5312079-82 20106300 8 M8
14  5312070-71 10396600 2 TE M8x30
15 531204922 10114200 2 28
16 531206261 10158500 2  ©85/18/12H
17  5312079-81 20106200 6 @ 8E
18 5312057-32 10140213 3 8;%’75’;“" 2
19 531205581 10135600 1
20  5312070-44 10390800 1 TE M8x40
21 531204907 10100900 1  DIN 6888 4x6,5
22 5312108-83 10177561 1
23 5312060-10 10146490 4
24 ~ 5312050-42 10120090 4
25 5312060-15 10146503 4 2 160
26 531207978 20101700 8 M10 - H.8
27  5312079-89 20113000 4 @ 10/30/2,5
28 531208974 30102100 4 2 10E
31 531207122 10428900 2 210
34  5312072-42 10531600 1 H.85
35  5312072-43 10531700 1
36 531206546 10177510 1 cm 49
37  5312072-37 10530900 1
38 531208008 20120580 1 E2%F
44  5312064-46 10165413 1 H.15
45  5312050-48 10120200 1
46 5312070-86 10400600 1 @ 3/8" UNFx50
47 531207108 10408800 3 TE M8x50
48 531206266 10158550 1 H.12
49 531207408 10651300 1
K] The Electrolux Group.The world’s No.1 choice. MEPIPL02010006
Ihr Ersatzteilspezialist im Internet



	t1: 3550SK Bio
	t2: 9538781-14 Partner
	1: MEPIPL02010006


